A x+1<3 O 3x-2=1
® 3-(x-3)=6-x @ 2(x-1)=2x-2
@ xxx=2x

@D 1 7 @ 2 7 ® 3 7| @ 4 74 ® 5 7




=-x

@ x*+1

@ 3x+6-3x

@ x+x2+3=x2

@ 2x-1=3(x-1)—x

B x+x2+1=x



@ 4 3 3 @ 2 ® 1

@D 5



w 919 | A,B,C,D,E] 2

R

e AE

4.

RS
olJ
G

A
S

o o
T P T

! I | | | | I |
Iy

! _A, | | | I |
,\4\0\#\\\7\73\4
\W [T G R N
) T T T \ d T T
| Ov S (@o]=2 HE
”II_II,I,IIII,II,Iuﬁll,
[ [
i
R~ R
T T dmu, e
L B Y (L R R

@ B(-2,0) ® €(0,0)

@ A(1,2)

® E(-2,0)

@ D(-1,-3)



5.

x5 9ol a1, x#HFE7F 591 o] HHEE?

@ (-5,-5) @ (0,-5)
@ (0,5) ® (5,0)

® (-5,0)



6. x7F1, 2 3 4, 5% 5] gL o, A 3x -2 =5x -8 o] o]
A k= x o] 20

D 1 @ 2 3 3 @ 4 3B 5



S}

olr

Os BE

L
ool
filo

NG A F B Y AL

fo

@O 4x-3=x+T=24x-x=T7+3
@ x=5x-2=x-5x=-2
1 1
8x—= =6-4x=>8x—-4x=6— =
® x73 —4x x —4x 3
@ 2x-0.1=10=2x=10+0.1
@Z—4 X 4 X

gx:§—6ﬁ—g_x_3:_6_7



AR A 7 - 1.4x = 0.3(2x — 1) + 1.3 &] a2

® x=-3 @ x=-2 ®x=1
@ x=2 B x=3



|
[\
—
o8]
—
w
>~
—
Q
—~
w
S
=



10.

A P(3a,-b) 7t Al 2AHEH A & o, T2 5

H4e?

i

® (-a,b) @ (ab,a) ® (
@ (a+b, —ab) O (% —b)

>
M
g
=
30,
rlr



11.

S a(x+3)=—-x+b7Fx2 gkl
o] gr2?

D 5 @ 6 3 7

I}

o

Al

%}\o

194



® 5 B 7 @ 9 B 11

@D 3



13. oa2 A A(=3,4)°l gt A9 FollA &2 A7

@ xFol W& S410] Fuf il o] FEL 30let,
@ yZol sl ohy<l gl FEL (3,-4) oIk,

® A (3.4)8k9) A2} golet.

@ A 4R Hole,

® A A9 yFHEE _30|c}.



14.

@ a-b+c=c-8
a+5 b-3

@

Cc

b, col st a+3=b-5,c>0% o, ot

Cc

o
ol

go



b
© 1—x3 — b- 9

x—=2

@ 2(a-x)

@ =10 3 -15 @ =20 3B =25

@D -5



